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1) /KA : ET17.8~19.7 C, JKET12.0~ 155 CO#MAICH -7,

2) ¥isy : FET28.7~32.9, EJET33.2~34.0 DFFHIZH -7,

3) pH DT~ 81 OHEFIZH Y, %< DM TKERAKEE (7.8 ~8.4) Zili7= LTV, —H

ROJERE (St.1 Kj#, St.2 #2414, St.3 #%, St.7 HmH) TldthEThnikiEz

Flﬁlof:o

4) COD : 0.2 ~0.8mg/L OFPHIZH VY, 28 CTKRERKIEHE (BAHMENTE : 2mg/LUT) %
g7z LTz,

5) DO :6.0~9.0 mg/L O#HiPHIZH Y, 2R TAREHKILEAE (6.0 mg/L LI L) %
Ti7= LTz,

6) 777 FUIEEEIZ 0.9~ 2.1 mV/m OFFEIZH -T2,

7) RSN ATHB XL T OfEANICH o 72,

U EEREY > (PO4-P) : 1.4 ~ 36.5 pg/L
T =T HEZESR (NH-N) 0 0.1 A&¥H ~ 84.9 pg/L
HAEEREZE R (NO:-N) : 0.3 ~6.2 ug/LL
iHlEREZ= 3 (NOs-N) : 0.6 ~ 59.4 pg/LL
(ZRB=FX 1.1 ~117.4 pg/L)
MKEREER LT =T BER, WEREER, MHREEROGH T,
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